
www.vintageair.com

900405 REV A 11/03/23, PG 1 OF 1

Packing List: 
Slimline Cool Only

Installation Kit (633003)
  No. 

1.
2.
3.
4.
5.
6.
7.
8.
9.

10.

Qty.
2
2
2
2
2

50”
2

20”
2
1

Part No.
18125-VUB
18136-VUB
18235-VUB
18287-VUB
18290-VUB
31050-VUD
33137-VUI
49003-VUP
64135-VFE
65599-VUE

Description
Washer, 1/4” USS, Flat
Nut, 1/4-20, Hex
Screw, #8 x 1/2”, Pan Head
Bolt, 1/4-20 x 1/2”, Hex
Bolt, 1/4-20 x 1”, Hex
Drain Hose, 1/2”
Grommet, Large
Press Tape
Bracket, Evaporator Front
Connector, “T” Drain, 1/2”

Checked By:
Packed By:

Date:

NOTE: Images may not depict actual parts and quantities.
           Refer to packing list for actual parts and quantities.

31

9

4

108

75 6

2


